
SAP ABAP table RECP_AT_COSTS_C {Adjustment Measure: Costs}

RECP_AT_COSTS_C

COSTSPOS [CHAR (8)]

COSTSPOSGRP [CHAR (8)]

ADJMCT [CHAR (4)]

ADJMCP [CHAR (4)]

ADJMCTCUST [CHAR (4)]

ADJMCPCUST [CHAR (4)]

ADJMCTREF [CHAR (4)]

ADJMCPREF [CHAR (4)]

WAIVERCT [CHAR (4)]

WAIVERCP [CHAR (4)]

TIVAJCOSTSGRP

MANDT [CLNT (3)]

COSTSPOSGRP [CHAR (8)]

 RECP_AT_COSTS_C-COSTSPOSGRP = TIVAJCOSTSGRP-COSTSPOSGRP 

0..N

1

TIVAJCOSTSPOS

MANDT [CLNT (3)]

COSTSPOS [CHAR (8)]

 RECP_AT_COSTS_C-COSTSPOS = TIVAJCOSTSPOS-COSTSPOS 

0..N

1

TIVCDCONDTYPE

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]

 RECP_AT_COSTS_C-ADJMCT = TIVCDCONDTYPE-CONDTYPE 

0..N1  RECP_AT_COSTS_C-ADJMCTCUST = TIVCDCONDTYPE-CONDTYPE 

0..N
1  RECP_AT_COSTS_C-ADJMCTREF = TIVCDCONDTYPE-CONDTYPE 0..N

1  RECP_AT_COSTS_C-WAIVERCT = TIVCDCONDTYPE-CONDTYPE 
0..N

1

TIVCDCOPUEXT

MANDT [CLNT (3)]

CONDPURPOSEEXT [CHAR (4)]

 RECP_AT_COSTS_C-ADJMCP = TIVCDCOPUEXT-CONDPURPOSEEXT 

0..N

1

 RECP_AT_COSTS_C-ADJMCPCUST = TIVCDCOPUEXT-CONDPURPOSEEXT 

0..N

1

 RECP_AT_COSTS_C-ADJMCPREF = TIVCDCOPUEXT-CONDPURPOSEEXT 
0..N

1

 RECP_AT_COSTS_C-WAIVERCP = TIVCDCOPUEXT-CONDPURPOSEEXT 0..N

1


